                                    Sketch the following straight lines
Eg.  y = 2x – 3            Let x = 0   so y = 2(0) – 3 = 0 – 3 = -3   so (0,-3)
                                    Let x = 3   so y = 2(3) – 3 = 3 – 3 = 3   so (3, 3)

(3,3)





(0,-3)





y = 2x + 3


y = 3x –1


y = x + 2


y = 4x – 2


y = -x +3


y = -2x + 2


y = - 3x + 1


y = -3x + 3


y = -3x + 6


y = 4 – x


y = 3 + x


y = 1 + 2x


y = 1 + ½x


y = 1 – 2x


y = 4 - ⅓x


y = 2 + ⅔x


y = 1 + ⅓x


y = -1 - ⅓x


y = -2 + ⅔x


y = -3 - ⅓x





Put 7-9 on the same sketch





y = -4 + ⅔x


y = -2 - ⅔x


y = ⅔x + 3


y = 6 – 5x


y = 5 + 5x


y = -1 + 4x


y = -8 + 6x


y = 8 – 4x


y = 6x + 7


y = 9 – 3x








